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PART A

1. Which one of the following is not a|b.
Fundamental Duty prescribed in the
Constitution of India ?

(a) To value and preserve the rich heritage
of our composile eulture

(b} To protect and improve the natural
environment

(e} To safeguard public property and abjure
vislence 6.

(d) To promote international peace and
security

2,  The First Schedule of the Constitution of
India consists of
(a} A list of States and Union Territories of

India 7.

(b) 'The Union and State Lists

{c) Languages

(d) Acts outside the purview of judicial
review

3. Which one of the following statements is not
correct about the Right to Constitutional
Remedies under Article 32 of the Constitution
of India ? 8.
(a) It is a right for the enforcement of

Fundamental Rights.

(b) The Supreme Court has the power to
issue writs under this provision.

(¢} The rights puaranteed by this Article
cannot be suspended.

{d) The Parliament can empower any other
court to exercise the powers of issuing
writ under this provision.

4. In which one of the following Articles, does
the  Constitution of India  abolish
‘untouchability’ and its practice in any form 7 9.
{a) Article 17
(hy Article 18
(¢) Article 19
{d) Article 15
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GENERAL ABILITY AND INTELLIGENCE

Which one of the following is nof a right

guaranteed by Article 19 of the Constitution

of [ndia ?

{a) Freedom of speech and expression

{(b) Freoedom to practice any profession

{¢) Freedom to follow a religion of one's
choice

(d) Freedom to form associations or unions

Which one of the following is not one of the
modes of acquisition of citizenship under the
Clitizenship Act, 1966 7

{a} Descent

{b} Registration

(¢) Incorporation of territory

(d} Overseas citizenship/dual citizenship

Which one of the following pairs is nof

correctly matched ?

{a} Lord North : Regulating Act of 1773

(b} Lord Cornwallis : Permanent
Settlement

{e) Lord Bentinck : Abolition of Sati

(d) Lord Canning Minute on Indian
Education

Which one of the following statements about

the Bhakti movement in India is not correct ?

(a) Ramanuja taught at the Meenakshi
temple of Madurai.

{b) The founder of Madhava sect was a
Kanarese Brahmin,

(¢) Telugu Brahmin Nimbarka gettled near
Mathura and greatly influenced the
Bhakti movement.

{d) Impact of Sahajiyas, Tantries and
Nathyogis led to the development of
North Indian Sant tradition,

Which one of the following does nof describe
nne part of the classic Hindu temple ?

(a) Garbhagriha

(b} Mandapa

(e} Tribhanga

{d) Antarala
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10.

{a) The English victory over the Portuguese
fleet off Bwally in 1612
(k) The gifts sent by the English king to the
Mughal emperor
{e) The diplomatic skills of William
Hawkins
(d) The skills of Sir Thomas Roe
11. Which one among the following temples is the
earliest in time ?
(a) The Sun Temple ai Martand
(b} The Jandial Temple
{¢) The Gupta Temple at Deogarh
(d) The Kailasanatha Temple at
Kanchipuram
12. Which one of the following periods in the
history of Indian planning has not been a
period of Annual Plans ?
{a) 1966 — 69
(by 1879 = B0
(e) 1990 — 92
(dy 1982 —97
13. At 8:30 am, the angle between the minute
and hour hands is
(a)y T0°
by 7b°
(¢} BO°
(d) 85°
14. How many times will the digit 5 come in
counting from 1 to 99, excluding those
numbers which are divisible by 3 7
(a) 16
{by 15
(e} 14
(d) 13
15. X paid ¥ 47 for certain cups of tea and coffee.
If tea costs ¥ 5 per cup and coffee costs T 8
per cup, which one of the following statements
is correct 7
(a) He drank 8 cups of tea and coffee.
(b) He drank the same number of cups of
ten and coffee.
() Hedrank more tea than coffee.
{(d) He drank more coffee than tea,
GAIP-A-TNS (4 -

Which one of the following prompted the
Mughals to enter into trade negotiations with
the English in the early 17t century 7

16.

17.

18,

19.

A)

In a certain year, a school had 60% boys and
40% girls as students. In the next five yeara
the number of boys decreased by 10% and the
number of girla increased by 10%. What is the
change in total roll strength of the achool in
the five years ?

(a)

3% incrense

{b) 2% decrease
(¢) Nochange
{d) 5% decrease

Given that 1°* November 2019 is a Friday.
Then 1*' November 2022 is a

(a) Monday

{(b) Tuesday
(c) Wednesday
(d) Thurzday

The sum of two numbers is 143, If the greater
number is divided by the difference of the
numbers, the quotient is 7. What is the
difference of the two numbera ?

(@ 9

{(b) 11
(e} 14
(d}y 16

Mateh List T with List IT and select the correct

anawer using the code given below the lists :

List 1 List I
{City) {River)
A.  Lucknow 1. Ganga
B. Jabalpur 2, Tapti
C. Burat 3. Narmada
D. Paina 4. Gomti
Code :
A B C D
(a) 1 2 3 4
by 4 By B 4
(e) g 2 i
d 4 2 3 1
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20, Gir National Park is famous for
(a) Tiger
(b) Lion
(e) Migratory birds
{d) One-horn rhinoceros
21, Chinook is
(a) A very warm and dry wind on the
castorn slopes of the Rockies
{(b) A violent and extremely cold wind of the
Tundras
{e) An extremely cold wind in central
Siberia
(d) A dry and dusty wind off the west coast
of Africa blowing from the deserts
22. The following are the major peaks of the
Himalayas. Arrange them from higher to
lower altitudes :
i Kanchanjunga
2, Nanga Parbat
3. Nanda Devi
4.  Dhaulagiri
Select the correct answer uging the code given
below :
{a) 1-4.2-3
(by 1-2-4-3
e} 4-1-2-3
(d) 2314
23, Longest day/might is experienced during a
year in the
(a) Equator
(h)  Pole
e)  Tropics of Cancer/Capricorn
{d) Arctic/Antarctic Circle
24, Newton's law of motion eannof be applicable
to the particles moving at a speed comparable
to the speed of
fa) Hight
(b} sound
(c) rocket
{d) bullet train
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Bose-Einstein Condensate (BEC) is formed by
cooling & gas of extremely low density, about
one-hundred-thousandth  the density of
normal air. This is treated as

{a) II state of matier

(b) 1l state of maiter

{c) IV state of matter

(d) V state of matter

The phenomenon of change of a liquid inte
vapours at any temperature is known as
evaporation, which takes place

(a) atits boiling point

(b} above its boiling point

()  below its boiling point

(d) atroom temperature

Automohiles are fitted with a device that
ghows the distanee travelled. Such a device is
known as

{a] Speedometer

{(b) Cathetometer

(¢) Odometer

{d) Lactometer

Which one of the following non-metals is
present in solid state 7
(a) Bromine

(b) Boron
{c) Krypton
{d) Radon

Which one of the following statements about

air is correct ?

{a) Airis a compound.

{b)  Airis a mixture,

{e)  Air is an element.

{(d) Air always has more oxygen than
nitrogen.

Which one of the following cities hosted the
first International Agrobiodiversity Congress
in the month of November 2016 ?

(a) New Delhi

(b) Jakaria
{¢)  Colombo
(d) Dhaka
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91. World Science Day for Peace and
Development {organised by UNESCO) is
celebrated worldwide on 10" November every
vear. Which one of the following was the
theme for the year 2016 7
(a) Quality Science Education : ensuring a

sustainable future for all

{(b) Secience for the rapprochement of
peoples and cultures

() Celebrating Science Centres and
Science Museums

(d) Science for a Sustainable Future

82. Which of the following statements with regard
to the Pradhan Mantri Yuva Yojana is/are
correct 7
15 This is a scheme on entrepreneurship

education and training.

2. The scheme spans over a period of five
years (2018-17 to 2020-21) with a
project cost of around ¥ 500 crore.

Select the correct answer using the code given

below :

(a) 1only

(b} 2only

{¢; Bothland?2

{d) MNeither 1 nor2

33. The Ministry of Environment, Forest and
Climate Change, in November 2016, has
constituted a four-member team for
conservation and management of which one of
the following lakes ?

{a) Dal Lake, Jammu and Kashmir

(b) Damdama Lake, Haryana

(¢} Loktak Lake, Manipur

(d) Chilika Lake, Qdisha
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35.

36.
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Which one of the following statements about
the Union Council of Ministers is not correct 7

{a) The Prime Minister is the Head of the
Couneil of Ministers,

The Council of Ministers advises the
President in the exercize of his function.

(b}

{c) The President can ask the Council of
Ministera to reconsider any advice.

(d) The advice given by the Council of

Ministers is subject to judicial serutiny.

Which one of the following statements with
regard to the Preamble to the Constitution of
India is nof correct 7

(a) The Preamble is a part of the
Constitution.

(b) Tt states the objective of the
Constitution.

{c) The word ‘Socialist” was added to the
Preamble in 1976.

(d) The word ‘Secular’ was always a part of
the Preamble.

Which one of the following statements with
regard to the right to freedom of religion in
India 15 not correct ?

(a) This right gives all persons freedom of

conscience.

(b) Tt does mnot permit educational
institutions maintained entirely by
State funds to impart religious

instructions.

(¢) It prevents the State from making a law
providing for social welfare and reforms.

(d)

Thae reference to Hindu includes Sikhs,
Jains and Buddhisis.
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3%7. The provision for a Uniform Civil Code exists
in which of the following parts of the
Constitution of India ?

{a) Fundamental Rights

{b) Directive Principles of State Policy

(e} Citizenship

(d) Fundamental Duties

38. Which one of the following statements with
regard to the Amendment of the Constitution
of India is not correct ?

(a) An Amendment Bill may be introduced
in either House of the Parliament.

(b) The Amendment Bill must be passed by
at least two-third of the members of
each House present and voting.

{c) The State Legislatures are not required
to ratify an Amendment Bill.

{d) The President of India cannot return an
Amendment Bill for reconsideration.

39. Which one of the following statements about
the founding of the Indian National Congress
is correct ?

(a) It was founded in December 18856 by
seventy-two political workers.

{b} It was founded in December 1885 under
the leadership of David Hume.

(¢} Itwas founded in Lahore,

{(d) Lord Macaulay was the Viceroy of India
at the time of its founding.

40. In which one of the following edicts is the
name ‘Ashoka’ inscribed ?

{a) Shahbazgarhi major rock edict

(b} Minor rock edict — I at Maski

(¢) Dhauli major rock edict

(d) Kandahar pillar edict

GAIP-A-TNS
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In ancient India, Mehrgarh was a

fa) neolithie site in the Bolan Valley
{b) graveyard of the Delhi Sultans
(¢) kingdom in the Deccan area

(d) fortin Rajasthan

Mahavibhasa, an encyclopaedia of Buddhist
philosophy is the work of which Buddhiat
Council ?

(a) First Council

(b) Second Council

(¢} Third Couneil

(d} Fourth Council

‘A’ and ‘B’ can complete a work in 2 hours and
55 minutes. ‘A’ alone can do the same work
two hours faster than ‘B’ alone can. How long
will ‘B’ take to do the work alone 7

{a) 2 hoursand 10 minutes

{(b) 4 hours and 10 minutes

{¢) B hours

{d}) 7 hours

The rabbit population in community A

increases at 25% per year while that in
comrmunity B increases at 50% per year. If the
present populations of A and B are equal,
what will be the ratio of the number of rabbits
in community B to that in community A after
2 years ?

(a) 144
(b) 172
{e) 150
(d) 1-Zb

What is the number of all possible posgitive
integer values of ‘n’ for which n? + 96 is a
perfect square ?

(a) 2
(b) 4
() 5
(d) Infinite



37.

a8,

39.

40.

GAIP-A-TNS

YA @ \iagH & Hetatgs § § g um 3

uwwT fafaw wfim # avay disg 2 0

fa) H‘t”faifﬁlw

by Uwy fl A & Fewes g

{e) TSI

(d) H&A wdey

URE o ®fauT % weee o gay § R

H & ST wY "E 77 B 7

(a) U HUNvA fatoew wae & fed o ge o
T S AT 2 |

(b) W Wed d uftdw ot wa ¥ @
Tew & FA-HHY DR gm weiee
ferderes mifta g =nfiw, |

(c) Tt gonam fades &5 o9 fagmdzai &

FIENGR A W R e A

g2 |

vy o el fRefl deie fadoes @

gl 3g e el ¥ & |

wrdy s sty % odenes & oW §

Trfeifaa 9 & w5y w8 8 2
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41.

42,

43.

45.

(11-A)

T O o, TR A o7 7

(a) WIEH WIS H U S=aTaTY] T
(by Teoeht % geari 1 wfiram
(¢) TFRA &4 H U T

(d) TEAE H U fmen

TR, S wig 9 %1 e faveswm 2, fFa
aftg uftwe Y =i & 2

(a) W giEg

(b) foera ufteg

(c) el wfiwg

d) =gy afteg

A silt B foreft e w1 2 W2 ol 66 e W Qo
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(a) 2% 310 fime

(b) 47 3R 10 e

(e) 5%

(d) 7w

HHE A T WO A1 A= 25% 9fd =9 =l 2
o wgel ® JEfe v B A 50% wft ad 6 gt A
Tgdl € | Afg A 3 B 909W =R 50U
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(a) 144

(b) 1-72
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(d) 125

' % vt gwifam vequifes ol S de wn
Birft o e n? + 96 ool a1 2 7

(a) 2

(b) 4

{e) 6

(d) 4



46. The sum of two positive integers is 52 and

their LOM is 168. What is the ratio between
the numbers ?

(a) 2:3
by &5:4
(e) T:86
(d) 7:8
47. The volcanic island ‘Barren Island' is located
in
(a) Chile
{b) India
{e) Italy
(d) Iceland
48. Which one among the following is the oldest
nuclear power plant in India ?
(a) Kaiga
(b) Tarapur
(¢} Kundankulam
(d) Kakrapar
49. The Headquarters of Central Railway Zone of
Indian Railways is located at
(a) Jabalpur
{b) Mumbai
(e} Secunderabad
(d) Allahabad
50. Match List T with List II and select the correct
answer using the code given below the lists :
List I List IT
(Wildlife Sanctuaries) (State)
A. Mahananda 1. Odisha
B. Malabar 2. Tamil Nadu
C. Satyamangalam 3. West Bengal
D. Lakhari Valley 4. Kerala
Code :
A B C D
(a) 1 R
(b) 1 4 2 3
() 8 ¥ g 1
(d) 3 2 4 1
GAIP-A-TNS
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52,

63.

64.

B6.

56.

(12-A)

Which one of the following are the moat
widespread inorganic pelagic deposits on the
ocean floor 7

(a} Red clay

{b} Radiolarian coze

{c) Voleanic dust

(d) Calcareous coze

Electron was discovered by
(a) Michael Faraday

(b) Joseph John Thomson
(¢} Henry Cavendish

(d) Earnest Rutherford

Which one of the following is a reducing
substance ?

(a) Oxygen

(b) Iron

{c) Potassium permanganate

(d) Potassium dichromate

Which one of the following statements about
carbon dioxide is not correct 7

(a) Itis a basic oxide.

(b) TItis a greenhouse gas.

(c) It forms dry ice.

td) It is consumed during photosynthesis,

Which one of the following materials is not
present in gun powder ?

(a) Sulphur

(b)  Charcoal

(c) Potassium nitrate

(d) Barium sulphate

Which one among the following is the richest
gource of vitamin C 7

(a) Apple
{b) Banana
{3  Amla
{d) Papaya
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(c) wETETgE Y&
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(¢) & wafgm
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(a) SATFTeH

(h) A

(c) Ty Wi
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B6.
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WA HYT qH TF@ B ?
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(d) fam e
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(a) ¥4
(b) e
(¢) aTEen
(d) adran



87.  Night blindness is caused by the deficiency of

{a) Vitamin C

{(b) Vitamin A

(c} Vitamin K

(d) Vitamin B

68. Who among the following is regarded as the
father of “White Revolution' in India ?

{a) Dr.B.P, Pal

(b} Dr, V. Kurien

(¢ Dr. S. Nagarajan

{d) Dr. Khem Singh Gill

69. Which of the following statements about the

Paris Agreement on Climate Change isfare

correct; ?

L The  Agreement  recognizes  the
developing countries’ right to
development and their efforts to
harmonize development with
environment, while protecting the
interests of the most vulnerable,

2, The objective of the Agreement ensurea
that it is mitigation-centric.

Select the correct answer using the code given

below :

{(a) 1 only

(b) 2 only

(c) Both1and2

(d) Neither 1 nor2

60. Which one of the following countries was
defeated by the Indian Women's hockey team
in the final match, to lift the Asian

Champions Trophy 2016 7

(a) Japan

(b} Pakistan

(e} Bangladesh

(d) China

GAIP-A-TNS

61.

62.

(14-A)

Which one of the following is the Official;
Mascot for the 2018 FIFA World Cup ?

(a) Zabivaka
(b) Fuleco

(c) Zakumi
{d) Footix

In May 2016, INSV Mhadei set sail for a
voyage to PPort Louis in Mauritius. Which one
of the following statements about this voyage
is not correct ?

{a) This was the first open-ocean voyage of
the Indian Navy's all women crew of the
Mhadei.

(b} It was a training voyage.

{c) The voyage was flagged off from Goa.
(d}) It was skippered by Lieutenant

P. Swathi.

The principle that the Constitution of India
has a ‘basic structure’ or “eatures” which
could not be amended was laid down in which
one of the following judgements ?

(a) Shanksri Prasad ws Union of India

(1951)
(b} Golak Nath va State of Punjab (1967)
(¢) Keshavananda Bharati vs State of
Kerala (1573)
(d) Minerva Mills va Union of India (1980)
Which one of the following statements
regarding disqualification of MPs and MLAs
on grounds of defection is not correct 7

{(a) These provisions are listed in the Tenth
Schedule of the Constitution of India.
(b) A member may be disqualified on

grounds of defection.
te)  Disqualification on grounds of defection
does not apply in case of merger.
(d)  All questions regarding disqualification
on grounds of defection are referred to

the Election Commission of India.
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65. Which one of the following countries was not
a signatory to the SAARC Charter signed on
December 1985 ?

(a} Afghanistan
(b) SriLanka
(c) Pakistan
(d) Maldives

66. Which one of the following institutions
organizes the Dr. APJ Abdul Kalam IGNITE
Awards for children 7
(a) National Innovation Foundation
() National Knowledge Commiasion
(e} Competition Commission of India
(d}) National Innovation Council

67. ‘No More Tension' mobile application ia
launched by
(a) Ministry of Commerce and Industries
(b} Ministry of Health and Family Welfare
(c)  Ministry of Finance
(d) Ministry of External Affairs

68. Which two of the following extreme locations
are connected by the Hast-Weat Corridor in
India?

(a)  Silchar and Porbandar
{(b) Mumbai and Nagpur
{c)] Mumbsaiand Kolkata
(d) Nagpur and Siliguri

69. In which one of the following countries is
Tamil an official language ?

{a) Bingapore
(b) Indonesia
(e} Malaysia
(d) Thailand

GAIP-A-TNS

70,
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72,
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74.

5.

(16— A)

Which one of the following is nof a
characteristic of continental shelves ¥

(a) Sites of productive fishing grounda

(b) Ol and gas reserves

(e} Sites of submarine canyons

(d} Large stores of sand and gravel

The Aral Sea is situated between

(a) Kazakhstan and Uzbekistan

(h) Kazakhstan and Turkmenistan

(¢}  Uzbekistan and Turkmenistan

(d) Uzbekistan and Tajikistan

How are the small lakes in Ireland known as ?
{a) Loughs

tb} Bogs

{¢) Creeks

{d) Brooks

Which one of the following is the main ‘Rabi

Seaszon (winter seazon) ceresl crop of India ?

(a) Paddy
(b) Maize
{c) Millets
(d) Wheat

Sex ratio, in a population, is defined as the
number of

(a)
b) females for every hundred males

(
(e)  males for every hundred females
(

females for every thousand males

d) males for every ten thousand females
Which one of the following was not a feature
of India’s foreign policy under Nehru ?

(a) Panchsheel
(b) Non-alignment
(c) Promoting peace and decolonisation

(d)  Cooperation among people of the Sonth
Asian region
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PART B

When a hijacked aireraft lands at an Indian
airport, which among the following will be
responsible for laying the inner cordon ?

(a)
(b

The nearest Army Unit
CISF at the concerned airport
{e)  The District Police

(d) CISF will lay the inner cordon and on

arrival of NSG task force it (NSG) will
assume the overall command

Consider the following statements ;

Search warrant, under Section 93 of the Code
of Criminal Procedure 1973, may be issued
where

1.  the Court has reason to believe that the
concerned person will not produce the
document or thing as required.

2.  such document or thing is known to the
Court to be in possession of any person.

3.  the Court considers that the purpose of
any inguiry, trial or other proceeding
under this Code will be served by a
general search or inspection.

Which of the statements given above ia/are
correct 7

(a)
(b)
(c) 1and3only

1 and £ only

3 only

(d) 1,2and3

PROFESSIONAL SKILLS
76. A passenger travelling by Air wishes to carry | BO.
his licenced Revolver. He can carry it
fa) in his cabin baggage by intimating it to
CISF,

(b) in his hold bagpgage after declaring to
Airlings at the time of check-in,

(¢} in his hold baggage afier obtaining
clearance from DGCA.

(d) only after handing it over to the Captain
of the aireraft and collecting it at the
destination.

77. Who among the following is nof exempted
from Pre-embarkation Security Check at
Civilian Airports (as on 01.12,2015) 7
(a) Holders of Bharat Raina decoration 81,
(b) His Holiness the Dalai Lama
(e} Chiefs of Staff holding rank of full

General or equivalent
fd) Commissioner of Bureau of Civil
Aviation Security

78. RDX atands for
{a) Research Department Explosive
(b) Radio Device Explosive
{c) Radioactive Detonated Explosive
(d) None of the above

T9. In case of a hijack of an Aircraft registered in
India landing at an Indian Airport, the
executive responsibility for hands on crisia
management rests with
(a) Central Committee chaired by DGCA
(b) Committee of Secretaries (COSAH)

headed by the Cabinet Secretary
{e) Aerodrome Committee of the concerned
airport headed by the Airport Director
(d) Cabinet Committee on Security (CCS)
headed by the Prime Minister
GAIP-A-TNS {18-A)
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82. Which of the following acts cannot be
authorised to be carried out by any police
officer above the rank of a Constable through
a warrant by a District Magistrate,
Sub-Divisional Magistrate or a Magistrate of
the first class, who upon being informed, and
after such inquiry as he thinks necessary, has
reasong Lo believe that any place is used for
deposit or sale of any objectionable article, or
that any such objectionable article is
deposited in any place ?

{n) To enter such place with such
assistance as may be required

(b) To search the place in any manner as
deemed fit by the officer authorised by
warrant to carry out the search

{¢) To convey such property or article
before a Magistrate

{d) To take possession of any property or
article therein found which he
reasonably suspects to be stolen
property
83, As per Section 129 of the Code of Criminal
Procedure, 1972, dispersal of unlawful
assembly by civil force can be commanded by
(a) any Judicial Magistrate or Executive
Magistrate

(b} any Executive Magistrate or Officer
In-charge of a police station or any
police officer not below the rank of
Sub-Inspector

{¢) District Magistrate or Superintendent
of Police

(d) any Magistrate or any police officer

GAIP-A-TNS
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86.

(20-A)

Consider the following statementa related to
the use of armed forces to disperse unlawful
assembly :

1, Armed forces can be used when it
cannot be otherwise dispersed.

2 Armed forces can be used when il is
neceasary for the public security.

3. Whether armed forces be used or not
can be decided by any Executive
Magistirate.

4. Whether armed forces be used or not
can  be decided by the Executive
Magistrate of the highest rank who is
present.

Which of the statements given above are
correct ?

(a) 1,2 and 4 only
{(b) 1and?donly
{c} 2 and4only
(d) 1,2 and3only

Chooso the odd one out.

(a) Scanner
(b) Printer
(¢}  Mouse
(d) Keyboard

An Internet utility that lets one log on to
remote computer systems is known as

(a) Usenet

(b) Telnet

{¢) File Transfer Protocol (FTP)
(d) Remote Net
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av.

Which of the following statements sbout
UNIVAC isfare correct 7

1. It was the firgt general purpose electronic
digital computer designed for commercial
use.

2. It stands for Unique Automatic Computer.
Select the correct answer using the code given
below :

(a)
(b) Zonly

{(¢) Bothland?2
(d)

1 only

MNeither 1 nor 2

88. Which one of the following is commonly
referred to ns the brain of any computer
ayatem ?

(a) Arithmetic Logic Unit
(b) Central Processing Unit
(cy Control Unit

(d) Application Server

89. Which one of the following statements about
FORTRAN is correct ?

(8) Itisa computer programming language.

(b} It is a computer software developed by
IBM to use in assembly of motor parts.

(e} Tt is a brand of a new computer system
developed by TBM.

(dj It iz the name of the first
gupercomputer developed in India by
DRDO,

90. Which one of the following is the principal
function of an Intelligent Camera ?

(a) To extract  application specific
information from the captured images

(b) To take pictures of terrorist movements
at night

(¢) To take pictures of arms and
ammunitions carried by persons

(d) To deteet the suspicious goods hidden
on the body of an air traveller
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As per the provisions of the Central Industnal
Security Force Act 1968, “Force Custody”
means

{a} confinement of the suspected
miscreants.
(b) confinement of 2 member of the Central

Industral Secarity Force.

(e} custody of the arms and ammunition
issued Lo the Central Industrial
Security Force.

(d) custody of the misereanta convicted by a

court of law on acecount of their
involvement in industrial subversion.

Which one of the following categories does not
exist in the Central Industrial Security
Force 7

{a) Subordinate Officers
(b}
(e} Junior Commissioned Officers

{(d} Under Officers

Supervisory Officers

Which one of the following statements is
correct ?

(a} The responsibility of the Central
Industrial Security Force is limited to
protection of the physical infrastructure

of the industrial establishments.

The responsibility of the Central
Industrial Security Force extends to
protecting the employees of the
industrial undertakings.

(b)

(¢} The Central Industrial Security Force
cannot be assigned any duty other than
protection and security of the industrial

establishments.

The Central Industrial Security Force
cannot be assigned any duty outside
India.

(d)



87,

BE.

B8,

00,

GAIP-A-TNS

UNIVAC & &1t # fF=fafag § @ s

wyT adt R v

1. g8 arvifeas s@m & fau femms e
T WGH HETH WEEH geagis shiea
HEE 9l |

2. =g ad Tiw sriaifes wrogm R |

Hi2 fou 0 e = W I T I g

(a) e 1

(b) el 2

() 13M 2EH

(@ 7d1,9# 2

frefafas @ @ 9 Fv@ fowem % ufess
F w9 i e Sfeafiaa B wmr R o
(a) wftemifess witfoes gfte

(b) Hrga wATET I
(c) Fr I
(d) Ufcerhm we

FORTRAN % @i # fr=fofas § 3wt

w2

(a) 9 U FEEC WU W R |

(b) 48 WX UKH ¥ TS W WSt 3§ IE
fiby ot % form, BM g R e
HEZ WiFTe 8 |

(¢} 78 IBM g Tl v wraz e =1
Th /=S (W) 2 |

(d) 98 DRDO 7 wra o fawfag wum
GUTHFET T A & |

freft gRfeie Fmu w1 qen w Preffea A

® R ?

(@) @ e Tl & smEn fafiee g s
AT

() ufy o aeeard nfafafit i awhic S

(0 W g W W W B OEREE we
e ATEg 1w

(d) foreht fomm weht & ol o ot qu wfew
TIHM I FAT ST

1.

92,

93.

(23-A)

HoiE i e ww eifufiem, 1968 %

IrEdl o Irgen “aergde fvea” w1 own o

27

(a) WfeEw aEgmi % 9w

(b) W Al g a@ % G g
T GGy

(0 #dla shefis gun 7@ 1 o mw
Foaml 2R Menares & sl

(d) TNt fvae § a9 dfera 86 &% wmo
e g gr-fing ume o aeETe 6
Feareel

frforfaa 1 8@ *9a v @i S it
FE A 77 TR ?

(a) ondfiey avfirerft

(b) gHawor s

(c) 'ﬁa"ﬁ'ﬁﬂ@ﬁﬁﬁlﬁrﬂ

(d) e afirrrdt

frafifend @ e wdi 2 7

(a) FgE el gur ew W gl
airenfires srfirari o Wifee srerercemn
e e Tt 2

(b) FeE ofefie gen 99 % afea w5
foem sliifies vt & wbnfal )
Y& JEH H G 8 |

(¢) g st gun @@ W siefe
Al il Gan v T % MEE S
H Y A fodT A1 Gl |

(d) Ha e gean w@ H wma @ w
1§ o1 St T & S et |



94, The office-bearers of a workers’ union are
physically preventing a section of the workers
from entering the premises of the industrial
establishment where they work to show
solidarity with the union which had given a
call for a strike. The argument is hecoming
increasingly heated with some of the
office-bearers threatening to  resort to
violence. As an officer of the Central
Industrial Security Force in-charge of the
situation, which one of the following actions
would you consider the best under the
circumstances ?

(a) Call the Chief Security Officer Lo handle
the situation

(b) Fire in the air to disperse the crowd

{e) Eacort the workers who wani to enter
the premises to their workstations
inside the premises

(d) Arrest the office-bearers of the workers’
union

96. Which one of the following statements is
correct ?

(a) The Director General of the Central
Industrial Security Force may direct the
members of his Force to provide
technical consultancy services relating
to security to  an industrial
egtablishment in the privale sector, on a
request received in thia behalf from the
Managing Director concerned.

(b} The Director General of the Central
Industrial Security Force may direet the
members of his Torce to provide
technical consultaney services relating
te  security to an  industrial
establishment in the private sector only
if such establishment is executing a
government contract.

{c) The Director General of the Central
Industrial Security Force may allow the
members of the Foree to provide
technical consultancy services relating
to gecurily Lo an industrial
gstablishment in the private scctor only
in their individual eapacities,

{d) ‘Technical consultancy services can be
rendered by the Central Industrial
Security Foree only when it has idle
capacity.
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Which one of the following statemente is
correct ?

(a) The disciplinary powers of the
supervisory officers of the Central
Industrial Security Force to dismiss or
remove members of the Force are
exempt  from  the provisions of
Article 311 of the Constitution of India.

(by ‘Drll", ‘extra guard’, and ‘fatigue’ are
legitimate punishments that can be
awarded to an enrolled member of the
Contral Industrial Security Force.

() A member of the Central Industrial
Security Force who has been awarded a
punishment can appeal againat it but
hefshe cannot prefer a revision petition
againsl an order passed in appeal.

{d) The only remedy against an order
passed in appeal against a penalty
imposed by a competent disciplinary
authority is to approach the Centrul
Administrative Tribunal.

As per the provisions of the Central Industrial
Security Force Act, which one of the following
statoments is correct 7

fa} An enrolled member of the Central
Industrial Security Force can continue

to be a member of the political
association he had joined before
becomning a member of the Force

without any permission.

{b) An enrolled member of the Force needs
previous written sanction of the
prescribed authority for joining a
religious organization.

{c) An enrolled member of the Force can
publish a book on the scientific
dimension of cyber warfare without
previous written sanction of the
prescribed authority.

(d) While on leave, an enrolled member of
the Force can be present in a political
demonstration against the perceived
violation of human rights by the
security forees, provided he/she doea not
participate in it.
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98. In case of fire due to electric short circuit,
which one of the following types of fire
extinguishers is used ?

(a) Foam extinguisher

(b)  Dry chemical powder extinguisher
(e)  Pressurized water extinguisher
(d) None of the above

99, What does COSCA stand for 7

(a) Committee on Security of Commercial
Aviation

(b) Committee on Security of Civil Aviation

(¢) Commissioner of BSecurity of Civil
Aviation

{d) Commissioner of Security of
Commercial Aviation

100. In a highly scnsitive industrial undertaking,
for ensuring optimum level of security, the
number of entry/exit gates should be
(a) as many as possible
{(b)  equal for male and female visitors
{c})  barest minimum
(d) at least one gate in every 500 metres of

the boundary wall

101. What is a Drone ?

(a) Itis a type of missile launcher,

(b} Itisacomputer virus,

{c) It is an unmanned gerial vehicle that
can navigate autonomously,

(d) It is a type of inflated boat to rescue
marooned people.
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What is a fire triangle ?

(a) Combination of Oxygen, Fuel and Heat
(b) Combination of Heat, Gas and Co,

(c) Combination of Fuel, CO, and Heat
(d) None of the above

Which one of following is nof a Bomb
Detection/Disposal Equipment 7

(a) Non-Linear Junction Detector (NLJD)
(b) Threat Containment Vehicle (TCV)
(c) Bomb Blanket

(d) Bured Cable

An order of seizure or attachment of any
property, issued by an officer conducting an
inquiry or investigation under Section 105D of
the Code of Criminal Procedure, 1973, must
he confirmed by the Court within a period of

(a) 30 days of its being made
(b) 45 days of its being made
(e) 60 days of its being made
(d) 90 days of its being made
As per the provisions of the Industrial

Disputes Act, 1947, which of the following

activities  is/are nof  considered as
‘industry’ ?

(a) Domestic service

(b} Khadi or village industries

(c) Hospitals or dispensaries

(d)  All of the above
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106. Which one of the following is ne# an essential
ingredient of the offence of theft ?

(a) The property may be moved with or
without the consent of the person in
possession of the property

(b} The moving of a property should be in
order to take such property

(e}  The property should be moved out of the
posseasion of any person

(d) The movable property must be moved
with dishonest intention

107. Under the provisions of the Indian Evidence

Act, 1872, confession before a police officer by

the accused in the custody of the police officer

becomes relevant, if

(a) the accused is a minor

(k)  the accused is a repeat offender

(¢} evidence ia discovered in consequence of
the confession

(d) None of the above

108, ‘A’ is a poon of a store roonm filled with wheat,

‘B’ is the owner of the store room. A’

introduces water into the store so that wheat

be destroyed. ‘A’ has committed the offence of

(a) Cheating

(b) Tresspasses by water

{c)  Mischief

{d) Criminal Breach of Trust

109. As per the provisions of the Central Industrial

Security Force Act, 1968, which one of the

following statements is incorrect 7

During histher suspension from office, a

member of the Force

(a) is subject to the same responsibilities as
he/she had befure suspension.

(b) is subject to the same discipline ag
hefshe was subject to before suspension.

{c) can be subjected to any penalty that
could be imposed on himher before
his/her suspension.

(d) ceases to be a member of the Force for
the duration of his/her suspension.
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Which one of the following Acts is applicable
to the members of the Central Industrial
Security Force 7

(a) The Wapes Act, 1936

(bh) The Police (Incitement to Disaffection)
Act, 1922

(e}  The Industrial Disputes Act, 1947

{d) The Factorieas Aet, 1945

A member of the Central Industrial Security
Force can seck protection for an aet
committed in the course of bonafide discharge
of hisher duty under which one of the
following Acts ?

{a) The Central Industrial Security Force
Act, 1968

(b} The Delhi Special Police Establishment
Act, 1948

{¢) The Code of Criminal Procedure, 1973

{(d) The Armed Forces (Special Powers) Act,

1958

Which one of the following statements is nof
correct ?

{a) The Central Vigilance Commissioner is
appointed by the President by warrant
under his hand and seal on the
recommendations of a Committes.

The Vigilance Commissioners are
appointed by the President on the
recommendations  of the Central
Vigilance Commissioner.

The tenure of the Central Vigilance
Commissioner and Vigilance
Commigsioners is identical.

A Vigilance Commissioner cannot be
given any diplomatic assignment.

(b)

(c)

(d)

Which of the following are the branches of the
Central Industrial Security Force ?

1. Exceutive Branch
2. Mimisterial Branch
3. Fire Services Branch

Select the correct answer using the code given
below :

(a) 1and2only
(b 1,2and3

{e) 1and3only
(d}) 2 and 3 only
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114. Which one of the following statements is

correct ?
As per the Central Industrial Security Force

Rules, 2001, the Dircctor General of the
Foree

(a}) cannol grant to an officer of the Force a
higher rank than the one held by

hinvher as a local rank.

() can grant a local rank only in the leave
vacancy caused by the officer of the
higher rank being on leave for more

than 30 days.

(¢} can grant a local rank only if the officer
who 18 to be granted such rank gives in
writing that he/she will not claim any

extra allowances for holding such rank.

(d) ean grant local rank to the officera of
the level of Deputy Inspector General
and above with prior approval of the

administrative ministry.

115. To which one of the following does the power
of the Central Vigilance Commission extend ?
(a) The functioning of the President and
the Prime Minister of India
(b) The supcrintendence of vigilance
administration of various ministries of
the Central Government
(¢) The supervision of the illegal migrants
from neighbouring countries
{d) The supervision of foreign countries
116, The provisions of the Employees’ Provident
Fund and Miscellaneous Provisions Act, 1952,
are applicable to an establishment which is a
factory engaged in any industry employing
(a} 10 or more persons
(b) 20 or more persons
{c) 5O or more persons
(d} 100 or maore persons
GAIP-A-TNS
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Which one of the following is the measuring
unit of X-Rays ?

(a) Ohm

(b}  Centimetres
fc}) Volts

(d} Roentgen

The wavelength of X-Rays as compared to
normal light is

(a) same

(b}  shorter

{c) longer

(d) shorter or longer, depending on the size

of the X-Ray machine

As per the provisions of the Workmen
Compensation Act, 1923, who among the
following relatives are covered under the
definition of ‘dependent’ of a deceased
workman 7

1. A widow and s widowed mother
2. A minor legitimate or adopted son

3, An unmarried legitimate or adopted
daughter

Select the correct answer using the code given
below :

(a) 1only

(b} 1and2Z2only
(¢) 2and3only
(d) 1,2and3

In-line baggage is screened in maximum

(a) two stages
(b} three stages
(¢c) four stages
(d) five stages
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=l ® A R 7
(a) < = o
(b) & =t o
(¢) =TT o &
(d) T =T



121.

122,

128.

(a) Wrongful loss or damage to the
property

{b) It must be with intention to cause loss
or damage only to the owner of the
property

{e) Loss or damage may be by destruction
of the property

(d) Lwosa or damage may be by change in the
property or situation thereof as it
destroys or diminishes its value or
utility

GAIP-A-TNS (32—

Through the X-BIS Screen, explosives are
geen in

(a) Orange colour
(b)  Green colour
(c)  Black colour
(d) White colour

While heing deputed for natural disaster,

which one of the following is rot the role of
CISF ?

(a) If a dead body is found, it should be
handed over to the police.

(b) If a decomposed body is found, it should
be quickly disposed of.

(¢} If any ornaments, watch or any item of
identification is available, it should he
preserved and handed over to the police.

(d) Continue search for the lost persons,

Which one of the following iz net correct in
respect of the offence of migchief 7

124,

125.

126.

A)

Which of the following statements is/are
correct for the commission of criminal breach
of trust 7

1.  Property is entrusted to him or he has
any dominion over the property.

2! Property may be movable or immovable.

3. Offender misappropriates or converts
the property for his own use,

Select the correct answer using the code given
below ;

(a) 1,2and3
{b} 1 and 3 only
{c) 2and3only
{(d) 2only

‘A’ before going on a pilgrimage entrusts to ‘B’
the key of his house to use and take care of it
under a contract that it shall be returned on
payment of stipulated sum when ‘A’ comes
back, ‘B’ sells the furniture of ‘A'. By doing so
‘B’ has committed the offence of

(a) Dishonest misappropriation of property

(b) Cheating

(¢} Theft

{dy Criminal breach of trust

As per the provisions of the Indian Evidence
Act, 1872, which of the following is/are

ineluded in the meaning of ‘Faet' ?

1. Any thing, state of things, or relation of
things capable of being perceived by
senses

2. Any mental condition of which any
pPETE0N 15 conscious

Select the correct answer using the code given
below :

(a}) lonly

(by 2only

(¢) Bothland?2
(d) Neither 1 nor 2
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123, fif€ (wma) & TR & ey Fiaiea §
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o Fil-| TE G 8 7
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oq a1 ITAEl T AYS FH 7, TN
9 T 1R afa
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127.

128.

129, Which one of the following canneot be the
subject matter of theft ?
fa) Human beings
(b) Crops
fe)  Animals
(d) Electricity
GAIP-A-TNS (34 -

As per the provisions of the Indian Evidence
Act, 1872, which one of the following
gtaternents regarding confession to police
officer due to fear of arrest of his family
members is correct ?

{a) Confession is relevant,

{b) Confeagion is not relevant.

(e} Confespion is relevant but not
admissible.

{d) Confession is mnot relevant but

admissible.

The method of recruitment, age limits and
other qualifications relating to each post in

the Central Industrial Seeurity Force are

specified in which one of the following
documents 7

(a) The Central Industrial Security Force

Act, 1968

(b) The Central Industrial Security Force.
Rules, 2001

fe) Recruitment Rules, as amended from
time to time

{d) Agreement to be signed by every

enrolled member at the time of initial
appointmment

130. Which of the following pair(s) of term(s) and

131.

A)

meaning &s per the provisions of the

Workmen’s Compensation Act, 1923 isfare

correctly matched 7

1. Seaman :
Any person forming part of the crew of
any ship but does not include the master
of the ship.

2. Total disablement :
Such disablement whether of a temporary
or permanent nature as incapacitating a
workman for all work which he was
capable of performing at the time of the
accident resulting in such disablement.

3. Employer:
Any body of persons which is incorporated
excluding the managing agent of the
employer.

Select the correct answer using the code given

below :

(a) 1 only

{b) 1and2only

(c) 2and3only

(d) 1,2and3

Which one of the
relating to the
correct 7

(a) A specially deserving Constable with
fifteen years of service may be promoted
to the rank of Hoad Constable on the
basis of his/her service records.

A specially deserving Head Constable
with twenty years of service may be
promoted to the rank of Assistant
Sub-Inspector on the basis of hig/her
gervice records.

(e) A specially deserving  Assistant
Sub-Inspector with twenty-five years of
gervice may be promoted to the rank of
Sub-Inspector on the basis of his/her
service records.

The total number of such promotions of
deserving members of the Foree should
not exceed 10 percent of the posts which
are to be filled by the method of

promotion.

following statements
CISF Rules, 2001, is not

(b}

(d)
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wredig e wifufem, 1872 % IwEdl %
AR, FA THER % wee S ol % v
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(L)

(c)
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132. Which one of the following stateroents is mol
correct ?

133.

GAIP-A-TNS

{a)

(c)

(d)

In the absence of n specific order of
confirmation or a declaration of
satisfactory completion of probation, a
member of the OCentral Indusirial
Security Force is deemed to be on
probation,

A member of the Central Industrial
Security Force is deemed lo have
successfully completed his probation, if
it iz not extended before the completion
of the probation period specified in the
relevant rules,

No member of the Force shall ordinarily
be kept on probation for more than
twice the period prescribed in the
relevant rules.

Members of the Force appointed on
deputation/absorption need not be kept
on probation.

Which one of the following statements with
regard to the CISF Rules, 2001, is correct 7

{a)

(b)

(c)

()

The cases of termination of the services
of a probationer can be reopened by the
appointing authority on his/her own
motion,

The cases of termination of the services
of a probalioner can be reopened only by
the Central Government on appeal by
the probationer whose services have
been terminated.

Wherever permissible, the cases of
termination of the services of a
probationer can normally be reopencd
only wnathin three months of the
termination, unless there are specinl
circumstances to warrant reopening of
the case after this period.

If a probationer is reinstated on
reopening of the case, no pay and
allowances are payable from the date of
termination to  the date of
reinstatement.

134. Which of the following statements isfare
correct ?

1.

The orders issued by the Central
Government from time to time as regards
reservation, relaxation of the age limit
and other concessions for the Scheduled
Castes, the Scheduled Tribes,
Ex-gervicemen and other special
categories of persons are not applicable to
the Central Industrial Security Foree.

The Director General may give relaxation
in the eligibility ¢riteria for recruitment to
the post of Constable at the time of direct
recruitment.

No relaxation can be made by the Director
General in the medical criterion for
recruitment even if it is in the interest of
the Force and is considered not fo be
detrimental to the functioning of the
Forco.

Select the correct answer using the code given

helow :

{a) 2and3only
(by 1,2and3
{¢cy 1and?2only
{d) 3only

135.

Which of the following statements about CISF

isfare correct ?

1

CISF is the only Central Armed Police
Force in India having a full-fledged fire
service wing.

CIST offer security consultancy services
only to the Government establishments.

Select the correct answer using the code given

below :

(a) 1 only

(h) 2 only

fc) Bothland2
(d) Neither 1 nor 2

(36-A)
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136. Which one of the following is mot a duty of

137.

138.

CISF personnel when deputed at a polling
booth during election ?

(n)  Maintaining peace at the polling booth
(b)  Providing security to polling personnel
{c} Securing EVMs

(d) Ensuring security of the candidates

Which of the following are required in making
an Improvised Explosive Device (1ED) ?

L. Dretonator
2 Explosive

3. Battery

Select the correct answer using the code given
below :

(a) 1and2only
{b) 2and 3 only
{e) 1 and3 only
(d) 1,Zand3

As per the provisions of the Indian Evidence
Act, 1872, secondary evidence relating to a
document cannot be given when the original

(a) is of such a nature ag not to be easily
movable

(b) is a private document

{c}  isdestroyed or lost

(e} consists of numerous accounts or other
documents which cannot conveniently
be examined in the Court

GAIP-A-TNS

139.

140,

141.

142,

(38—A)

As per the provisions of the Indian Evidence
Act, 1872, which one of the following types of
questions is not lawlul in eross-examination ?

(a) Questions which shake the credibility of
a witness

(b) Questions about the general immoral
character of a rape victim/prosecutrix

{c) Questions to test the wveracity of a
witness

{(d} Questions related to the position of a
witness in life

Ag per the provigions of the Industrial

Disputes Act, 1947, a dispute to be termed as
‘Induatrial Dispute’ must be belween

{a) employvers and emplovers

(b) workmen and workmen

(e} employers and workmen

(d}  All of the above

Ag per the provisions of the Industrial

Disputes Act, 1947, which one of the following
is not included in the term ‘wages’?

{a)

Dearness allowance

(b}  Any travelling allowance
(¢) Any bonus
(d)  The value of any house accommodation

As per the provisions of the Industrial
Disputes Act, 1947, ‘Lay-off’ means the
failure, refusal or inability of an emplover to
give employment to a workman whose name
ia borne on the master rolls of his industrial

establishment and who has not been

retrenched on account of

{a) shortage of coal or power

(b)  shortage of raw materials or breakdown
of machinery

(e}  accumulation of stocks

(d)  All of the above
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In an industrial establishment, no workman
can go on strike and no employer can declare
a lock-out within how many days of conclusion

of conciliation proceedings ?

(a) 7 days

(b) 15days
(c) 30days
(d) 60days

In which of the following circumstances can
an enrolled member of the Central Industrial

Security Force be placed under suspension ?

1. Where a disciplinary proceeding against
him/her is contemplated or pending,

Where a case against him/her in respect
of under

investigation, inquiry or trial.

any criminal offence is

3.  Where in the opinion of the competent
authority, the member of the Force had
engaged himselftherself in  activities
prejudicial to the interest of the security
of the State,

Select the correct answer using the code given

below :

{a) 1 only

(b) 2and 3 only
1 and 3 only

1,2 and 3

145.

146.

(40-A)

Which one of the following is not one of the
major penalties prescribed in the Central
Industrial Security Force Rules, 2001 7

(a) Reduction to a lower stage in the time
scale of pay by one stage for a period not
exceeding three years, without
cumulative effect, and not adversely

affecting promotion

{b) Compulsory retirement
()  Dismissal from service
{(d) Reduction to a lower time scale of pay,

grade, post or service for a period to be
specified in the order of penalty which
shall be a bar to the promotion of the
enrolled member during such specified
period to the time scale of pay, grade,
post or service from which he was

reduced

As per the provisions of the CISF Rules, 2001,
which of the following authorities is deemed
to be the Inquiring Authority where thereis a
complaint of sexual harassment ?

An officer not below the rank of the
Deputy Inspector General in whose
jurisdiction the act of sexnal
harassment is alleged lo have been
committed

(a)

(b)  The authority who had appointed the
member of the Force against whom the

complaint is made

(e) The President of the CISF Wives

Welfare Association

The Complaints Committee estahlished
in the Central Industrial Security Force
for conducting inquiries into -such
complaints
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147. Who is competent to order transfer of the

supervisory officers of the Central Industrial
Security Force 7

fa) The Director General of the Central

Industrial Security Force

(b)  The Inspector General if the transfer is
from one unit to another within the
same sector

(e} The Deputy Inspector General if the
transfer i= from one unit to another
within the same zone

(d} The Central Government

148. What is “m-Power” in relation to the Central

Industrial Security Foreo 7

fa) It is the name of the operational

network of the Force.,
(by It is the eode governing the powers of

the supervisory officers of the Force,

(e} It iz a mobile application which enables
the members of the Force to address
their pay-related gqueries and register

their grievances while on the move.

(d)

It is the motto of the Force.

149,

150.

(42-A)

Which of the following is/are valid ground(s)

for challenging the jurisdiction of the National

Human Rights Cornmission to inquire into an

allegation of human rights violation against a

member of the Central Industrial Security

Force ?

163 That the same complaint is under
investigation by the Human Rights
Commission of the State in which the
violation iz alleped to have been
comrnitted

2. That the same complaint is being
investigated hy a Commission of Inquiry
set up by the Central Government

3. That more than one year hag expired
from the date om which the act
constituting viclation of human rights is
alleged to have been committed

Select the correct answer using the code given
below :

(a) 1only

(b) 1and2only

(e} 2and3only

(d 1,2and3 "

Which of the following is/are correct 7

While inquiring into complaints under the

Protection of Human Rights Aet, 1993, the

National Human Rights Commission can

1. summon and enforce the attendance of
witnesses and examine theni on oath.

2, geek discovery and production of any
document.

d.  require any public record or copy thereof
from any court or office.

Select the correct answer using the code given
below :

(a) 1only

(b) 1and2aonly
{c) 2and3only
(d) 1,2and3
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147, %2 Ivnfies gum aa % ofaa sl

¥ TATITAT0T T SITEW 29 % fore Wt mam R 0
(a) i INeNfieR guan @ 1 wEtAEeE

(h) werliers, afy st @ # v gfe |
Tat e # cyrr=m o s 2

(cy S9-merfaliers, 2fe ot o9 o v gfe 8
Tat gtz § warro fin s @

(d) HE TR

148, g afnfies qan =9 % 99 4 “m-Power”

Tl
(a) 4R WA F T A2eeh o1 AT B |

(b) TB °A & gdash stfirmfat 6 wfegi =i
ynfta @ aren $e 8 |

(¢) U& TH HEE g B St 59 & weedi
F, 99 & TIE 929 @ B &, I96 a9d
o Tefg 93l A JEIYE e ST 3R
farprrat =t usftpa w # wed w8

w5

(d) I8 9 1 R I (AiE) B |

(43-A)

149, =2 afreifive g @@ & ) e % g

fora, Tt wEenfae s ) st =

gt @1 & fom, Frafafaa d /8 sRaE

amar T 83 7

1. 42 & 3 T=ma w3 T=m &
qEEIYFHE AEM g1 A=-9gare S
@ ¢ et wiya =9 § 3seeq fien mn
#

9. I T 3t firega @ g wer g faa
T FT G SE-qSarel i o1 W8

3, wg T Tom ot @ wigg &9 A
WA o Jooier =) Hafed i =9
ey frn mn 2, 38 afe 4 vw ad g
aifires &1 qua srafia & a2

9 f2w T e s s W ' ge wfb

(a) e 1

(b) #hEE 13T 2

(c) “hae 2 T 3

(d) 1,223

150. F=Tafaya 5 9 SH-974 |8 272 2

qHEaeER BEn aigfREm, 1993 & el
Rrerat & wg =@ gw, T e
T

1. arferEt woage weE af mif @ ot
Y9 T Ieh] GEAT T B |

9. et zwamds #t wwe W Tw A i
FTUHT =T Tl B |

3, Toet =mamE @1 s@wg ¥ HE OF
wfiE 71 3aeht wfaferfd smfim = g2
21

#r2 fo o g =1 WA = T T g .
(a) “heel 1

(b) e 13T 2

() “haw 2311 3

(d) 1,233
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